

RESEARCH ARTICLE



A Portrayal of Integer Solutions to Transcendental Equation with Six Unknowns $\sqrt[3]{X+Y} + \sqrt{xy} = z^2 + w^2$



Received: 18-05-2024

Accepted: 01-07-2024

Published: 29-07-2024

N Thiruniraiselvi^{1*}, M A Gopalan²¹ Assistant Professor, Department of Mathematics, School of Engineering and Technology, Dhanalakshmi Srinivasan University, Samayapuram, Trichy, 621112, Tamil Nadu, India² Professor, Department of Mathematics, Shrimati Indira Gandhi College, Affiliated to Bharathidasan University, Trichy, 620002, Tamil Nadu, India

Citation: Thiruniraiselvi N, Gopalan MA (2024) A Portrayal of Integer Solutions to Transcendental Equation with Six Unknowns $\sqrt[3]{X+Y} + \sqrt{xy} = z^2 + w^2$. Indian Journal of Science and Technology 17(29): 2992-3001. <https://doi.org/10.17485/IJST/v17i29.1705>

* Corresponding author.

drntsmaths@gmail.com

Funding: None

Competing Interests: None

Copyright: © 2024 Thiruniraiselvi & Gopalan. This is an open access article distributed under the terms of the [Creative Commons Attribution License](https://creativecommons.org/licenses/by/4.0/), which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.

Published By Indian Society for Education and Environment ([iSee](https://www.indjst.org/))

ISSN

Print: 0974-6846

Electronic: 0974-5645

Abstract

Objectives: This research article focuses on finding non-zero integer solutions to the Transcendental equation with six unknowns represented by $\sqrt[3]{X+Y} + \sqrt{xy} = z^2 + w^2$. **Methods:** There is no universal method for finding integer solutions to Diophantine equations involving surds. Various substitutions strategies are employed to obtain non-zero distinct integer solutions to the surd equation under consideration. **Findings:** Five different choices of substitutions are utilized to determine many non-zero distinct integer solutions to the transcendental equation with six unknowns in title. **Novelty:** In this analysis, the transcendental equation with six unknowns given by $\sqrt[3]{X+Y} + \sqrt{xy} = z^2 + w^2$ has been reduced to either Space Pythagorean equation or non-homogeneous ternary quadratic equation through suitable transformations and for which integer solutions can be found elegantly.

Keywords: Transcendental Equation With Six Unknowns; Surd Equation; Integer Solutions; Space Pythagorean Equation; Ternary Quadratic Equation

1 Introduction

The subject of Diophantine equation, one of the interesting areas of Number Theory, plays a significant role in higher arithmetic and has a marvelous effect on credulous people and always occupies a remarkable position due to unquestioned historical importance. The Diophantine equations may be either polynomial equation with at least two unknowns for which integer solution, are required or transcendental equation involving trigonometric, logarithmic, exponential and surd function such that one may be interested in getting integer solution. Most of the Diophantine problems solved by the researchers are polynomial equations⁽¹⁻⁵⁾. Note that, the transcendental equation can be solved by transforming it into an equivalent polynomial equation. Adhoc methods exists for some classes of transcendental equations in one variable to transform them into polynomial equations which then might be solved. Some transcendental equation in more than one unknown can be solved by separation of the unknowns reducing them to polynomial equations. In this context, one may refer⁽⁶⁻¹⁵⁾.

In this paper, we are interested in obtaining integer solutions to transcendental equation involving surds. In particular, we obtain five different sets of integer solutions to the transcendental equation with six unknowns given by $\sqrt[3]{X+Y} + \sqrt{xy} = z^2 + w^2$.

2 Methodology

The transcendental equation with six unknowns to be solved is

$$\sqrt[3]{X+Y} + \sqrt{xy} = z^2 + w^2 \quad (1)$$

The above equation (1) is reduced to polynomial equations of degree two and three through suitable transformations. The resulting quadratic equations are analyzed using elementary mathematical procedures.

3 Results and Discussion

3.1 Technical procedure-I

Launching the transformations

$$X = p(p+q)^2, Y = q(p+q)^2, x = p^2 + q^2 + 2pq, y = p^2 + q^2 - 2pq \quad (2)$$

in (1), it simplifies to the polynomial equation

$$(2p+1)^2 = (2q-1)^2 + (2z)^2 + (2w)^2 \quad (3)$$

The above equation (3) is similar to the Space Pythagorean equation

$$w^2 = x^2 + y^2 + z^2$$

and is satisfied by

$$z = ab, w = ac \quad (4)$$

$$p = \frac{a^2 + b^2 + c^2 - 1}{2}, q = \frac{a^2 - b^2 - c^2 + 1}{2} \quad (5)$$

As we require the solutions of (1) to be integers, observe that it is possible to choose a, b, c in such a way that p, q are integers. By inspection, the choices of a, b, c and the respective integer solutions to (1) are presented below:

Choice 3.1:

$$a = 2A + 1, b = 2B, c = 2C$$

From (4), we have

$$z = 2B(2A + 1), w = 2C(2A + 1) \quad (6)$$

From (5), we get

$$p = 2A^2 + 2A + 2B^2 + 2C^2, q = 2A^2 + 2A + 1 - 2B^2 - 2C^2$$

In view of (2), it is seen that

$$X = (2A^2 + 2A + 2B^2 + 2C^2)(4A^2 + 4A + 1)^2,$$

$$Y = (2A^2 + 2A + 1 - 2B^2 - 2C^2)(4A^2 + 4A + 1)^2,$$

$$x = (2A^2 + 2A + 2B^2 + 2C^2)^2 + (2A^2 + 2A + 1 - 2B^2 - 2C^2)^2 + 2(2A^2 + 2A + 2B^2 + 2C^2)(2A^2 + 2A + 1 - 2B^2 - 2C^2)$$

Table 1. Numerical examples

A	B	C	x	y	X	Y	z	w
1	2	3	9 ²	51 ²	30*9 ²	-21*9 ²	12	18
2	3	5	25 ²	135 ²	80*25 ²	-55*25 ²	30	50

$$y = (2A^2 + 2A + 2B^2 + 2C^2)^2 + (2A^2 + 2A + 1 - 2B^2 - 2C^2)^2 - 2(2A^2 + 2A + 2B^2 + 2C^2)(2A^2 + 2A + 1 - 2B^2 - 2C^2) \quad (7)$$

Thus, (7) & (6) represent the integer solutions to (1).

Few numerical examples are given in Table 1 below:

Choice 3.2 :

$$a = 2A, b = 2B + 1, c = 2C$$

From (4), we have

$$z = 2A(2B + 1), w = 4AC \quad (8)$$

From (5), we get

$$p = 2A^2 + 2B + 2B^2 + 2C^2, q = 2A^2 - 2B - 2B^2 - 2C^2$$

In view of (2), it is seen that

$$X = (2A^2 + 2B + 2B^2 + 2C^2)(4A^2)^2,$$

$$Y = (2A^2 - 2B - 2B^2 - 2C^2)(4A^2)^2,$$

$$\begin{aligned} x &= (2A^2 + 2B + 2B^2 + 2C^2)^2 + (2A^2 - 2B - 2B^2 - 2C^2)^2 + \\ &2(2A^2 + 2B + 2B^2 + 2C^2)(2A^2 - 2B - 2B^2 - 2C^2), \\ y &= (2A^2 + 2B + 2B^2 + 2C^2)^2 + (2A^2 - 2B - 2B^2 - 2C^2)^2 - \\ &2(2A^2 + 2B + 2B^2 + 2C^2)(2A^2 - 2B - 2B^2 - 2C^2) \end{aligned} \quad (9)$$

Thus, (9) & (8) represent the integer solutions to (1).

Few numerical examples are given in Table 2 below:

Table 2. Numerical examples

A	B	C	x	y	X	Y	z	w
1	2	3	4 ²	60 ²	2*16 ²	-7*8 ²	10	12
2	3	5	16 ²	148 ²	82*16 ²	-66*16 ²	28	40

Choice 3.3:

$$a = 2A + 1, b = 2B + 1, c = 2C + 1$$

From (4), we have

$$z = (2A + 1)(2B + 1), w = (2A + 1)(2C + 1) \quad (10)$$

From (5), we get

$$p = 2A^2 + 2A + 2B + 2B^2 + 2C^2 + 2C + 1, q = 2A^2 + 2A - 2B - 2B^2 - 2C^2 - 2C$$

In view of (2), it is seen that

$$X = (2A^2 + 2A + 2B + 2B^2 + 2C^2 + 2C + 1)(4A^2 + 4A + 1)^2,$$

$$Y = (2A^2 + 2A - 2B - 2B^2 - 2C^2 - 2C)(4A^2 + 4A + 1)^2,$$

$$\begin{aligned} x &= (2A^2 + 2A + 2B + 2B^2 + 2C^2 + 2C + 1)^2 + (2A^2 + 2A - 2B - 2B^2 - 2C^2 - 2C)^2 + \\ &2(2A^2 + 2A + 2B + 2B^2 + 2C^2 + 2C + 1)(2A^2 + 2A - 2B - 2B^2 - 2C^2 - 2C) \\ y &= (2A^2 + 2A + 2B + 2B^2 + 2C^2 + 2C + 1)^2 + (2A^2 + 2A - 2B - 2B^2 - 2C^2 - 2C)^2 - \\ &2(2A^2 + 2A + 2B + 2B^2 + 2C^2 + 2C + 1)(2A^2 + 2A - 2B - 2B^2 - 2C^2 - 2C) \end{aligned} \quad (11)$$

Thus, (11) & (10) represent the integer solutions to (1).

Few numerical examples are given in Table 3 below:

Table 3. Numerical examples

A	B	C	x	y	X	Y	z	w
1	2	3	9 ²	73 ²	41*9 ²	-32*9 ²	15	21
2	3	5	25 ²	169 ²	97*25 ²	-72*25 ²	35	55

Note 3.1

It is to be noted that ,apart from (2) ,the following transformations may be considered for finding other patterns of integer solutions to (1)

(i) $X = p^3 + 3pq^2, Y = 3p^2q + q^3, x = p^2 + q^2 + 2pq, y = p^2 + q^2 - 2pq$, (ii) $X = p^3 + 3pq^2, Y = -3p^2q - q^3, x = p^2 + q^2 + 2pq, y = p^2 + q^2 - 2pq$,

3.2 Technical procedure-II

Taking

$$z = kw, k > 1 \quad (12)$$

in (3) ,it reduces to the quadratic equation

$$(2p+1)^2 = 4(k^2+1)w^2 + (2q-1)^2 \quad (13)$$

Considering

$$2p+1 = u+v, 2q-1 = u-v, u \neq v \neq 0 \quad (14)$$

in (13) ,we get

$$u * v = (k^2 + 1)w^2 \quad (15)$$

Choosing

$$u = (k^2 + 1)w, v = w$$

in (15) and using (14) ,it is seen that

$$p = \frac{(k^2 + 2)w - 1}{2}, q = \frac{k^2w + 1}{2} \quad (16)$$

It is observed that the values of p, q are integers provided both k & w are odd.

Taking

$$k = 2s + 1, w = 2t + 1$$

in (16), one obtains

$$p = \frac{(4s^2 + 4s + 3)(2t + 1) - 1}{2} = (4s^2 + 4s + 3)t + (2s^2 + 2s + 1),$$

$$q = \frac{(4s^2 + 4s + 1)(2t + 1) + 1}{2} = (4s^2 + 4s + 1)t + (2s^2 + 2s + 1)$$

In view of (2) and (12), the corresponding integer solutions to (1) are given by

$$X = [(4s^2 + 4s + 3)t + (2s^2 + 2s + 1)][(8s^2 + 8s + 4)t + 2(2s^2 + 2s + 1)]^2,$$

$$Y = [(4s^2 + 4s + 1)t + (2s^2 + 2s + 1)][(8s^2 + 8s + 4)t + 2(2s^2 + 2s + 1)]^2,$$

$$x = [(4s^2 + 4s + 3)t + (2s^2 + 2s + 1)]^2 + [(4s^2 + 4s + 1)t + (2s^2 + 2s + 1)]^2 +$$

$$2[(4s^2 + 4s + 3)t + (2s^2 + 2s + 1)] * [(4s^2 + 4s + 1)t + (2s^2 + 2s + 1)],$$

$$y = [(4s^2 + 4s + 3)t + (2s^2 + 2s + 1)]^2 + [(4s^2 + 4s + 1)t + (2s^2 + 2s + 1)]^2 -$$

$$2[(4s^2 + 4s + 3)t + (2s^2 + 2s + 1)] * [(4s^2 + 4s + 1)t + (2s^2 + 2s + 1)],$$

$$z = (2s + 1) * (2t + 1),$$

$$w = 2t + 1$$

Few numerical examples are given in Table 4 below:

Table 4. Numerical examples

s	t	x	y	X	Y	z	w
1	1	30 ²	2 ²	120 ²	14*30 ²	9	3
1	2	50 ²	4 ²	27*50 ²	23*50 ²	15	5

Note 3.2

In (15), the values of u, v may be chosen as shown below:

Representation I: $u = w^2, v = k^2 + 1$

Representation II: $u = k^2 + 1, v = w^2$

Considering Representation I and following the above procedure, the corresponding integer solutions to (1) are given by

$$X = \frac{(w^2 + k^2)w^4}{2}, Y = \frac{(w^2 - k^2)w^4}{2},$$

$$x = w^4, y = k^4, z = k * w$$

where k, w are of the same parity.

Few numerical examples are given in Table 5 below:

Considering Representation II and following the above procedure, the corresponding integer solutions to (1) are given by

$$X = \frac{(w^2 + k^2)(k^2 + 1)^2}{2}, Y = \frac{(k^2 - w^2 + 2)(k^2 + 1)^2}{2},$$

$$x = (k^2 + 1)^2, y = (w^2 - 1)^2, z = k * w$$

where k, w are of the same parity.

Few numerical examples are given in Table 6 below:

Table 5. Numerical examples

k	x	y	X	Y	z	w
4	4^2	16^2	$10 \cdot 4^2$	$-6 \cdot 4^2$	8	2
3	49^2	9^2	$29 \cdot 49^2$	$20 \cdot 40^2$	21	7

Table 6. Numerical examples

k	x	y	X	Y	z	w
4	17^2	3^2	$10 \cdot 17^2$	$7 \cdot 17^2$	8	2
3	10^2	48^2	$29 \cdot 10^2$	$-19 \cdot 10^2$	21	7

3.3 Technical procedure-III

Launching the transformations

$$X = (1+p)(1+p+q)^2, Y = q(1+p+q)^2, x = p, y = pq^2 \quad (17)$$

in (1), it simplifies to the second degree polynomial equation

$$1 + p + q + p \cdot q = z^2 + w^2 \quad (18)$$

Again, taking

$$p = r + s, q = r - s, r \neq s \neq 0 \quad (19)$$

in (18), it leads to the space Pythagorean equation

$$(r+1)^2 = s^2 + z^2 + w^2 \quad (20)$$

which is satisfied by

$$s = a^2 - b^2 - c^2, r = a^2 + b^2 + c^2 - 1$$

and

$$z = 2ab, w = 2ac \quad (21)$$

From (19), we get

$$p = 2a^2 - 1, q = 2(b^2 + c^2) - 1$$

In view of (17), one obtains

$$X = 2a^2(2a^2 + 2b^2 + 2c^2 - 1)^2, Y = (2b^2 + 2c^2 - 1)(2a^2 + 2b^2 + 2c^2 - 1)^2,$$

$$x = 2a^2 - 1, y = (2a^2 - 1)(2b^2 + 2c^2 - 1)^2 \quad (22)$$

Thus, (21) & (22) represent the integer solutions to (1).

Few numerical examples are given in Table 7 below:

Note 3.3

The integer solutions to (20) may be taken as

$$s = 2ab, r = a^2 + b^2 + c^2 - 1$$

and

$$z = 2ac, w = a^2 - b^2 - c^2 \quad (23)$$

Table 7. Numerical examples

a	b	c	x	y	X	Y	z	w
2	1	3	7	$7*19^2$	$8*27^2$	$19*27^2$	4	12
1	2	1	1	9^2	$2*11^2$	$9*11^2$	4	2
1	2	3	1	25^2	$2*27^2$	$25*27^2$	4	6

Correspondingly , we have

$$p = (a+b)^2 + c^2 - 1, q = (a-b)^2 + c^2 - 1$$

In view of (17) ,one obtains

$$X = [(a+b)^2 + c^2](2a^2 + 2b^2 + 2c^2 - 1)^2,$$

$$Y = [(a-b)^2 + c^2 - 1](2a^2 + 2b^2 + 2c^2 - 1)^2,$$

$$x = (a+b)^2 + c^2 - 1, y = [(a+b)^2 + c^2 - 1][(a-b)^2 + c^2 - 1]^2 \quad (24)$$

Thus, (24) & (23) represent the integer solutions to (1).

Few numerical examples are given in Table 8 below:

Table 8. Numerical examples

a	b	c	x	y	X	Y	z	w
2	1	3	17	$17*9^2$	$18*27^2$	$9*27^2$	12	-6
1	2	1	3	$9*9^2$	$10*11^2$	11^2	2	-4

3.4 Technical procedure-IV

Launching the transformations

$$X = (1-p)(1-p-q)^2, Y = -q(1-p-q)^2, x = p, y = pq^2 \quad (25)$$

in (1), it simplifies to the second degree polynomial equation

$$1 - p - q + p*q = z^2 + w^2 \quad (26)$$

Again, taking

$$p = r + s, q = r - s, r \neq s \neq 0 \quad (27)$$

in (26), it leads to the space Pythagorean equation

$$(r-1)^2 = s^2 + z^2 + w^2 \quad (28)$$

which is satisfied by

$$s = a^2 - b^2 - c^2, r = a^2 + b^2 + c^2 + 1$$

and

$$z = 2ab, w = 2ac \quad (29)$$

From (27), we get

$$p = 2a^2 + 1, q = 2(b^2 + c^2) + 1$$

In view of (25), one obtains

$$X = -2a^2(2a^2 + 2b^2 + 2c^2 + 1)^2, Y = -(2b^2 + 2c^2 + 1)(2a^2 + 2b^2 + 2c^2 + 1)^2,$$

Table 9. Numerical examples

a	b	c	x	y	X	Y	z	w
2	1	3	9	$9 \cdot 21^2$	$-8 \cdot 29^2$	$-21 \cdot 29^2$	4	12
1	1	2	3	$3 \cdot 11^2$	$-2 \cdot 13^2$	$-11 \cdot 13^2$	2	4
3	5	1	19	$19 \cdot 53^2$	$-18 \cdot 71^2$	$-53 \cdot 71^2$	30	6

$$x = 2a^2 + 1, y = (2a^2 + 1)(2b^2 + 2c^2 + 1)^2 \quad (30)$$

Thus, (29) & (30) represent the integer solutions to (1).

Few numerical examples are given in Table 9 below:

Note 3.4

The integer solutions to (28) may be taken as

$$s = 2ab, r = a^2 + b^2 + c^2 + 1$$

jointly with (23).

Correspondingly, we have

$$p = (a + b)^2 + c^2 + 1, q = (a - b)^2 + c^2 + 1$$

In view of (25), one obtains

$$X = -[(a + b)^2 + c^2](2a^2 + 2b^2 + 2c^2 + 1)^2,$$

$$Y = -[(a - b)^2 + c^2 + 1](2a^2 + 2b^2 + 2c^2 + 1)^2,$$

$$x = (a + b)^2 + c^2 + 1, y = [(a + b)^2 + c^2 + 1][(a - b)^2 + c^2 + 1]^2 \quad (31)$$

Thus, (31) & (23) represent the integer solutions to (1).

3.5 Technical procedure-V

Taking

$$P = 2p + 1, Q = 2q - 1 \quad (32)$$

in (13), it is written as

$$P^2 - Q^2 = 4(k^2 + 1)w^2 \quad (33)$$

which is expressed in the form of ratio as

$$\frac{P + Q}{(k^2 + 1)w} = \frac{4w}{P - Q} = \frac{\alpha}{\beta}, \beta \neq 0$$

Solving the above system of double equations through employing the method of cross-multiplication and using (32), one obtains

$$w = 2\alpha\beta,$$

$$p = 2\beta^2 + \frac{(k^2 + 1)\alpha^2 - 1}{2},$$

$$q = -2\beta^2 + \frac{(k^2 + 1)\alpha^2 + 1}{2}. \quad (34)$$

As our thrust is on finding integer solutions, taking

$$k = 2t, \alpha = 2s + 1$$

in the above equations, we get

$$w = 2\beta(2s + 1) \quad (35)$$

And

$$p = 2\beta^2 + 2t^2(2s + 1)^2 + 2s(s + 1),$$

$$q = -2\beta^2 + 2t^2(2s + 1)^2 + 2s(s + 1) + 1.$$

In view of (2) & (12), we have

$$z = 4t\beta(2s + 1),$$

$$x = [(2s + 1)^2(4t^2 + 1)]^2,$$

$$y = (4\beta^2 - 1)^2,$$

$$X = [2\beta^2 + 2t^2(2s + 1)^2 + 2s(s + 1)][(2s + 1)^2(4t^2 + 1)]^2, \quad (36)$$

Thus, (35) & (36) represent the integer solutions to (1).

Note 3.5

One can also write (33) as the system of double equations as

$$\frac{P + Q}{4(k^2 + 1)w} = \frac{w}{P - Q} = \frac{\alpha}{\beta}, \beta \neq 0$$

Following the procedure as above, the corresponding integer solutions to (1) are given by

$$x = 16(k^2 + 1)^2\alpha^4, y = (4s^2 + 4s)^2,$$

$$w = 2\alpha(2s + 1), z = 2\alpha(2s + 1)k,$$

$$X = [2(k^2 + 1)\alpha^2 + 2s(s + 1)][16(k^2 + 1)^2\alpha^4],$$

$$Y = [2(k^2 + 1)\alpha^2 - 2s(s + 1)][16(k^2 + 1)^2\alpha^4].$$

4 Conclusion

In this paper, the transcendental equation involving surds with six unknowns given by $\sqrt[3]{X+Y} + \sqrt{xy} = z^2 + w^2$ has been reduced to polygonal Diophantine equations of degree two with three and four unknowns for which integer solutions are obtained in an elegant way through suitable transformations.

References

- 1) Thiruniraiselvi N, Gopalan MA. On the positive pell equation $y^2=11x^2+22$. 2020. Available from: <https://doi.org/10.32861/ajams.67.85.92>.
- 2) Vijayasankar A, Kumar S, Gopalan MA. On The Ternary Quadratic Equation $x^2+y^2=z^2+141$. 2020. Available from: <https://doi.org/10.32861/ajams.67.80.84>.
- 3) Thiruniraiselvi N, Gopalan MA, Poovarasan E. On the non-homogenous quadratic with two unknowns $5x^2-2y^2=117$. *International Journal of Advanced Multidisciplinary Research and Studies*. 2022;2(3):270–273. Available from: <https://www.multiresearchjournal.com/arclist/list-2022.2.3/id-244>.
- 4) Janaki G, Shankari G. Integral Solution of the Binary Quadratic Equation $3x^2-y^2=2$ that Depicts Parabolas and Hyperbolas. *International Journal of Scientific Research in Mathematical and Statistical Sciences*. 2023;10(01):10–13. Available from: https://www.isroset.org/journal/IJSRMSS/archive_issue.php?pub_id=408.
- 5) Thiruniraiselvi N, Gopalan MA. A class of new solutions in integers to Ternary Quadratic Diophantine Equation $12(x^2+y^2)-23xy+2x+2y+4=56z^2$. *International Journal of Research Publication and Reviews*. 2024;5(5):3224–3226. Available from: <https://ijrpr.com/uploads/V5ISSUE5/IJRPR27526.pdf>.
- 6) Meena K, Gopalan MA, Srilekha J. On the Transcendental equation with three unknowns $2(x+y)-3Pxy=(k^2+7s^2)z^2$. *International Journal of engineering Science and Research Technology*. 2019;8(1):133–136. Available from: https://www.ijesrt.com/Old_IJESRT/January-2019.html.
- 7) Vidhyalakshmi MT, M G. On the Transcendental equation $\sqrt[3]{(x^2+y^2)}+P(2mx+ny)=10z^3$. *International Journal of Recent Engineering Research and Development(IJRED)*. 2020;5(6):8–11. Available from: <http://www.ijred.com/volume5-issue6.html>.
- 8) Vidhyalakshmi S, Mahalakshmi T, Gopalan MA. On the Transcendental Equation $P(y^2+2x^2) + \sqrt[3]{(X^2+Y^2)} = 35z^3$. https://www.irjmets.com/uploadedfiles/paper/volume2/issue_8_august_2020/2985/1628083113.pdf.
- 9) Vidhyalakshmi S, Gopalan MA. On the Transcendental equation $\sqrt[3]{(x^2+y^2)}=z^6$. *International Journal of Advanced Multidisciplinary Research and Studies*. 2021;1(3):41–44. Available from: <https://www.multiresearchjournal.com/arclist/list-2021.1.3/id-69>.
- 10) Vidhyalakshmi S, Gopalan MA. Observations on the Surd Equation $P(2z-4)=P(x+P(m^2+4)y)+P(x-P(m^2+4)y)$. Available from: <https://ijrpr.com/uploads/V2ISSUE11/IJRPR1775.pdf>.
- 11) Meena K, Vidhyalakshmi GA. On The Surd Equation $P2z=P(x+ay)+P(x-ay)(a \neq 0)$. *International Journal of Modern Developments in Engineering and Science*. 2022;1:6–7. Available from: <https://journal.ijmdes.com/ijmdes/article/download/2/2>.
- 12) Saranya P, Padmapriya S. Solutions of the Transcendental Equation $p^2 - \sqrt[3]{(p^5+q^5-(pq)^3)} + \sqrt[3]{(r^2+s^2)} = k^3 (n^2+1)$. *International Journal for Research in Applied Science & Engineering Technology (IJRASET)*. 2023;11:599–603. Available from: <https://doi.org/10.22214/ijraset.2023.49478>.
- 13) Arti N, Bhatti. Study of Algorithms to Calculate Real Root of Transcendental Equations. *International Journal for Multidisciplinary Research(IJFMR)*. 2024;6(1):1–7. Available from: <https://www.ijfmr.com/papers/2024/1/11975.pdf>.
- 14) Li WW, Chen JF. Transcendental meromorphic solutions of certain nonlinear difference equations. *Journal of Mathematical Analysis and Applications*. 2024;539(1). Available from: <https://doi.org/10.1016/j.jmaa.2024.128497>.
- 15) Janaki G, Shankari G. Exponential Diophantine Equation $(n^2-1)u+n^2v=w^2, n=2,3,4,5$. *Indian Journal of Science and Technology (IJST)*. 2024;17(2):166–170. Available from: <https://doi.org/10.17485/IJST/v17i2.2544>.